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  آ	�� ا���آ�
Quantité de mouvent 

Iا���آ� ��	آ �
��
    ــ 

I1 ــ��
    ا����ر ��	��� ����� �� ��	�� ��
 �����  1أ ــ 

 

 ذا�������� ���)m1=100g ، S1 (  ،)m2=200g ، S2 (  �	ر ا��������&�ا%$� #�� ، ��"ق ا� �� ، ����ث ا�
(S1,S2) . (ر �"آ� �"آ����2�8/ 	�7 ا��06�/ ا�G2 .  5��6 وG1ي ا��23ر و��0/ �.�-"ة &+� ا*� :  

  
                                                                       τ=40ms  

  
  

          G'3              G'2             G'1               G'0   /   /    G0     G1    G2      G3       G4   G5      G5                       
  
  

 �����  ب ــ ��� � ا�
   ــ �� ه5 <.�+� �"آ� �"آ) =�2ر آ/ ���/ ذا�5 ؟ 1
   ــ أ�B0 %"	� آ/ ���/ ذا�5 ؟ 2
3 
  .  	�7 ورق ا��06�V2 / وV1ــ ��E�6� /F ا�"0	6�
4 
   ؟ m2V2 وm1V1 ــ �� ه5 ا�+�=� &�

m2V2+ m1V1=0                 
  ج ــ #"�� 


 &��+�=� ا���6�� 	�8 �$.�"� 
  : ا����ر ا�����	� -.J ا��+)و�� ��Iن ��6E�6 ا�"0	6�
0   =1V1m+ 2V2m  

 
�E�6� 
Kا�+�=� ��3ار LMز ه".�: m1V1  p1=و  m2V2  p2=     
 5O�K(��   S و�E�6�& 7�0K آ��� ا��"آ� ���G1 P0 �"آ� �"آ) ا��23ر �Kp1�) ا���3ار ا��5E�6 ا�

   .  ا���آ� ���) ��' ���&� آ	��2ــ1
)*�+�  أ ــ 

 J6�6اء آ�R 5ه B�S P0�� ا��"آ� ��آ� �E�6� m Lآ) =�2ر"� �	"% �E�6و� VG   
                                               GV.m=p  

  .  ب ــ �	�-ات ���&� آ	�� ا���آ�
 /STا : P0آ) =�2ر ا��"�S   
 L���*: ا �	ا�0" �E�6� L���ا.VG  
 PU8ا�� :p=mVG         

  ج ــ و0/ة آ	�� ا���آ� 

 و��ة آ��� ا��"آ� �5 ا��U8م ا�+���5 �����ات ب 	 ".+�kg.m/s  

 
K"��1  
 �E6�6رة آ��ا��"آ� �0 ��آ� B0أ�M1=900kg �	"0& �6"ك� V1=108km/h .   
 �E6�6"آ� -���8 آ� ��آ� B0أ�M2=3.104kg �E6	"%و V2=54km/h   
�] آ��� �"آ� ا�0��رة ؟ أ�B0 ا�0"	� ا�5Z.8K 56 أن � �E� ن�I6� �8ا���� �E& �6"ك�  

I3 ــ ��
��&� آ	�� ا���آ� �	�	��� ����� �� ��	�� ��� .   
p1  B�2ا� P0��� ا��"آ� ��آ�S1 �U�8 ا���	 t   
p2 P0��� ا��"آ� ��آ� S2  �U�8 ا���	t  

 
� ���Iا�� �	"آ� ا������ ��آ�)S1، S2 (  5ه      : p2  p1 +   p =  
  5E�6ا\���ء ا��      : p2  p1 +   p =  
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II��������
   .  ــ ا����ظ آ	�� ا���آ� �	�	��� 
��و�� 

   ــ ا����ظ آ	�� ا���آ� أ�56ء ا����ر ��	��� 1
��I% ���� 5ن S2 و S1: =./ ا*����ر  =0   p2  p1 +  

  = 'p'2  p'1 +   p  0=&+� ا*����ر                            
   ='p                                           p إذن

  . آ��� �"آ� ا�����	� -.J ا��+)و�� ����I�I�� ا���U_ أ^�8ء ا*����ر 
2 (�	+�   : :���ن ا����ظ آ	�� ا���آ�:  ــ 

 
  . �.73 آ��� �"آ� ����	� -.J �+)و�� أو �+)و�� ����I�I�� ^�&�6 #�ل ا�)�
 p  =cte                                         p'=  

∆p=0                                                
III���	�� �0آ� ��	ات آ��;�    ــ 

    ــ ا�>�ة وآ	�� ا���آ�1

 و�Rد =�ة VG%.3_ ا\-�رة �5 درس �.�أ ا��23ر أن �Z��E�6� " ا�0"	� 	 a��� ه� P0آ) =�2ر ا��"��  .  

 a6860� �	"0ا� �E�6� ت"�Z� إذا Jأ�VG ا��"آ� ��آ� �E�6� ت"�Z� GVmp
rr ====  

    ــ �;�� آ	�� �0آ� ��	��� =�� �+-و��2
 �����   )5أ�U" ا���8ط ( 

  
1 >�
>� ��A ا����@ ا�?اB	ــ ��د ا�>�ى ا�  :  
P 5�اMوزن ا����/ ا�   
R 5�اM7 ا����/ ا��	ة �U8ا�� "�^d�   
F �� ا� "���   

 �6Kاز��ن ���� &���E8 أي أن R و e��KP أن 

FFRPFi

rrrrr
====++++++++====∑∑∑∑  
�+�ل 	�7 ا��"آ� Fا��3ة � �E� 56ة ا���ا��3ة ا���   

   FFFF  ــ �	�-ات ا�>�ة2
 L���*: ا ��ا�  L���ا  
  �7�8 �"آ� ا����/ ا�Mا�5 : ا��7�8 
   F=2N أي أن F=m0g 0,18-:ا���ة 

   : ا��������0ب :�	� آ	�� ا���آ� F< ا�E<5  ــ 3
A2             p2=0,28kg.m/s 
A4             p4=0,44kg.m/s 
A6             p6=0,60kg.m/s   

4�&��465  ــ �	�H@ ا�	 ppp
rr −−−−====∆∆∆∆ P�0ا� s/kgm2,0cm1 ↔↔↔↔ 

 ����Fو�7                                                                             ا����� ا�Tا����� ا  
p1و  p2     7�8ا�� [�� ��E�                                           p1 و   p2   ��8ه�� �6+�آ�0ن�   

         
                                 p1              p2                                            p1            p           

  
                                         p                                                            p2   

                                    p=p1 +p2                                                    p = p1-p2 
                                                                                                                p>0                          
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ــ ا�	>�ر�� ���  5
t

p5
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�] ا*���ة و��] ا��FFFF  :.08��& 7�8و � ��E� ة���� �N2
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44.06.0
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p5 ====
−−−−====
ττττ∆∆∆∆
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a6860�F أن 
t

p5
r
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∆∆∆∆

∆∆∆∆
  

�+	�) ا�5����:  ــ #"�� 3   
��6�� ، F< آ@ ���J ، و���و*� �>�ة  '�� (�� A�� �<
B	ع ا�>�ى ا��	إذا آ�ن �� ، >����= (�+� >FFFFF نNF ، 

F
t

p5
r
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∆∆∆∆
  

 


